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(1) The curveis symmetric about y
axis.

. sSinx
@ lim——=1
x—0 X

. SnXx
l[im =0

X—>too X

snmx m

®) le_r’rg nx n

(1) Thecurveissymmetric about y
axis.

. tanx
2) lim =1
x—0 X
lim 20X _
:+OO
(3) x>le0 X
2
¥
. (1) Asymptotes:
1 =x
1 =1+ — =e and x=-1
5 y=(1+7) y
: 1Y
4 ) I|m(1+—) =e
X—00 X
3--

[im (1+ i) =1
X—>0+ X

. 1Y)
[im (1+—j =40
x—(-1)" X




¥ 1 1
2 (1) MinPointatA | —
e e
y=xInx 2) lim xInx =0
11 x—0
(3) Note: )!LI’(HXX =1
} X-
\_//i 3
14
|
1 1
In x () MaxPointatA | &——
o YT Tx e
/__ B (2 Inflexion Point at B
‘ I X- 39 3
1 2 4 ez’_e 2
2
-1+ (3) Asymptotes::
y=0 and x=0
Inx Inx
4 lim —=0, lim —=-w
27 ( ) X400y x—0 X
1
(5) Note: lerP X* =1
(1) Asymptotes:
y=0 and x=-1
In(1+ x)
_hQa+x (2) lim T::L
X
In(1+ X
(3 li (+x) _
X—>+00 X
In(1+ x
Xx—-1" X




(1) Asymptotes:
y=1 and x=0
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